Spiel 1 Spiel2  Gesamt

Spiel 138 0:00(L 1 OI:LERMEIER Fritz 58 + 54 = 112|# 0
L2 KULLINGER Andreas 50 + 54 = 113|0
Spiel 140 15:27[L 3 FROSCHL Max 58 + 62 =  120|###0
L4 JURKOWITSCH Marcel 65 + 59 = 1240 #
Spiel 142 15:43|L 5 I:IAHN Manfred 63 + 60 = 123|# #
L1 OLLERMEIER Fritz 58 + 58 = 116/0 # O
Spiel 144 16:02|L 2 KULLINGER Andreas 49 + 64 = 113|0
L3 FROSCHL Max 49 + 44 = 93
Spiel 146 16:17|L 4 JURKOWITSCH Marcel 55 + 52 = 107|0 # #
L5 HAHN Manfred 46 + 62 = 108
Spiel 148 16:37[L1 OLLERMEIER Fritz 46 + 57 = 103
L3 FROSCHL Max 67 + 56 = 123|# 0
Spiel 150 16:53|L 2 KULLINGER Andreas 50 + 63 = 122#0#0
L4 JURKOWITSCH Marcel 64 + 48 = 112|#
spiel 152 17:13|[L 3 FROSCHL Max 59 + 63 =  122|0
L5 HAHN Manfred 56 + 62 = 118
Spiel 154 17:31|L 4 q_URKOWITSCH Marcel 55 + 60 = 115|# #
L1 OLLERMEIER Fritz 50 + 67 = 17|# #
Spiel 156 17:49(L 5 HAHN Manfred 50 + 46 = 96
L2 KULLINGER Andreas 59 + 55 = 114|#0




